
1) Convert the following improper 
fraction 15/17 + 361/2 into a mixed 
number

Answer: ____________

2) Convert the following improper 
fraction 105/13 + 365/14 into a mixed 
number

Answer: ____________

3) 311/20 x 114/16

Answer: ____________

4) 9   3/4 - 17   7/19

Answer: ____________

5) 19   11/14 - 36   1/2

Answer: ____________

6) Convert the following fraction into a 
mixed number: 42/12

Answer: ____________

7) 4/16 + 4/1

Answer: ____________

8) Convert the following fraction into a 
mixed number: 18/10

Answer: ____________

9) Find the percentage change from 250 
to 230

Answer: ____________

10) Find the percentage change from 150 
to 414

Answer: ____________

11) 306/18 x 396/15

Answer: ____________

12) Find the percentage change from 470 
to 267.9

Answer: ____________

13) Convert the following mixed number 
3516/4 into an improper fraction.

Answer: ____________

14) Convert the following fraction into a 
mixed number: 39/34

Answer: ____________

15) Convert the following fraction into a 
mixed number: 66/32

Answer: ____________
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16) Convert the following fraction into a 
mixed number: 7/2

Answer: ____________

17) 293/12 ÷ 114/10

Answer: ____________

18) 157/8 ÷ 183/5

Answer: ____________

19) 10   9/14 - 31   16/17

Answer: ____________

20) Convert the following fraction into a 
mixed number: 25/17

Answer: ____________

21) An amount was decreased by 10% to 
$111.00. Find the original amount.

Answer: ____________

22) Convert the following fraction into a 
mixed number: 76/39

Answer: ____________

23) 10% of 158

Answer: ____________

24) An amount was decreased by 6% to 
$467.86. Find the original amount.

Answer: ____________

25) 1712/15 x 386/13

Answer: ____________

26) 20   16/20 - 37   1/2

Answer: ____________

27) Convert the following mixed number 
3715/12 into an improper fraction.

Answer: ____________

28) An amount was decreased by 6.8% to 
$217.00. Find the original amount.

Answer: ____________

29) 2   3/14 - 10   6/7

Answer: ____________

30) 212/9 ÷ 103/4

Answer: ____________

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 05, 2021

Sr: 05012021-1895

 

http://www.geekschool.co.uk


Total: ___ / 30
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Answers:

1) 3727/34 2) 46135/182 3) 3495/16 4) 1547/76 5) 335/7 6) 31/2 7) 41/4

8) 14/5 9) -8% 10) 176% 11) 11952/15 12) -43% 13) 39/1 14) 15/34

15) 21/16 16) 31/2 17) 243/76 18) 635/744 19) 4271/238 20) 18/17 21) $99.90

22) 137/39 23) 15.8 24) $439.79 25) 6848/13 26) 337/10 27) 153/4 28) $202.24

29) 169/14 30) 1377/387
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